7

0.6pg-TEQ/m3 pg-TEQ/m3N
1 0.040 0.064 0.052
2 0.023 0.035 0.029
3 0.016 0.041 0.029
0.026 0.047 0.037
2,3,7,8
1pg-TEQ/L pg-TEQ/L
1 H17.7.22 0.41
2 H17.8.30 0.075
3 H17.8.30 0.33
4 H17.10.27 0.12
5 H17.10.27 0.091
6 H17.7.26 0.16
7 H17.7.26 0.070
H17.4.25 0.96
H17.7.22 0.40
H17.10.13 1.2 0.70
H18.1.11 0.24
H17.11.10 0.070
H17.11.10 0.10
H17.11.10 0.12
H17.10.24 0.12
H17.4.25 0.19
H17.4.25 0.18
H17.4.25 0.83
H17.4.25 0.41
H17.4.25 1.2
H17.7.22 0.72
H17.10.24 1.1 0.84
H18.1.11 0.35
H17.10.14 0.070
H17.11.18 0.12
H17.11.18 0.20
H17.10.27 0.080
0.25
1pg-TEQ/L pg-TEQ/L
1 H17.6.20 0.064
2 H17.6.20 0.064
3 H17.6.20 0.064
4 H17.6.28 0.066
5 H17.6.28 0.064
6 H17.6.28 0.064
7 H17.8.30 0.071
8 H17.7.26 0.066
9 H17.6.21 0.064
10 H17.6.7 0.064
0.065

0.064pg-TEQ/L

1/2
1000pg-TEQ/g 250pg-TEQ/g pg-TEQ/

1 H17.6.20 0.99
2 H17.6.20 0.20
3 H17.6.20 0.17
4 H17.6.28 3.7

5 H17.6.28 0.35
6 H17.6.29 0.041
7 H17.8.30 0.53
8 H17.7.26 0.23
9 H17.6.21 5.4

10 H17.6.7 0.12

1.2




=

H17.10.27

1000pg-TEQ/g 250pg-TEQ/g pg-TEQ/
1-1 H17.10.13 0.
1-2 H17.10.13 0.
1-3 H17.10.13 0.
2-1 H17.11.10 0.
2-2 H17.11.10 2.
2-3 H17.11.10 0.
3-1 H17.10.26 0.
3-2 H17.10.26 0.
3-3 H17.10.26 0.
4-1 H17.10.14 0.
4-2 H17.10.14 0.
4-3 H17.10.14 2.
5-1 H17.11.18 0.
5-2 H17.11.18 2.
5-3 H17.11.18 2.
6-1 H17.11.17 4.
6-2 H17.11.17 9.
6-3 H17.11.17 2.
7-1 H17.12.12 0.
7-2 H17.12.12 0.
7-3 H17.12.12 0.
1.4
150pg-TEQ/ pg-TEQ/
1 H17.8.30 0.
2 H17.10.27 0.
3 H17.7.26 0.
4 H17.7.22 2.
5 H17.11.10 0.
6 H17.11.10 0.
7 H17.10.24 7.
8 H17.7.22 5.
9 H17.11.18 0.
0 0.




